

Nettlesworth Primary School

End of year Data analysis: September 2024 – July 2025

EYFS	GLD (National Average 2024- 67.7%)		<u>Target where</u> <u>set</u>	<u>Attainment</u>
	All	Cohort No: 13 Each child =	76.9%	76.9%
		7.7%	10/13 children	10/13 children
	FSM	Cohort No: 1 Each child = 100%	100%	100%
			1/1	1/1
	Pupil Premium	Cohort No: 1 Each child = 100%	100%	100%
			1/1	1/1
	Mobility	Cohort No: 1	<u>100%</u>	<u>100%</u>
			<u>1/1</u>	<u>1/1</u>
	SEND	Cohort No: 2 Each child=50%	<u>0%</u>	<u>0%</u>
			0/2	<u>0/2</u>
	MAGT	Cohort No: 1 Each	<u>100%</u>	<u>100%</u>
		child=100%	<u>1/1</u>	<u>1/1</u>
	Boys	Cohort No:7 Each child	71.4%	71.4%
		=14.3%	<u>5/7</u>	5/7
	Girls	Cohort No: 6 Each child = 16.6%	83.3%	83.3%
		10.070	5/6	5/6

<u>ELD (TA)</u>		7.7% 1/13	
<u>Year 1 Phonics Check</u> (National Average 2024- 80.2%)	<u>Cohort No: 16</u> <u>Each child = 6.25%</u>	<u>Attainment</u>	
All	62.5% 10/16 children	62.5% 10/16	
FSM	60% 3/5 children	60% 3/5	
Pupil Premium	60% 3/5 children	60% 3/5	
Mob	1 child	0%	
Stability	15 children Each child = 6.6%	66% 10/15	
SEND	7 children Each child = 14.3%	42.9% 3/7	
MAGT	2 children	100%	
Boys	6 children Each child = 16.6%	66.4% 4/6	
	10 children		

Girls	Each child = 10%	60%	6/10

Year 2 Phonics Re- Check National Average 2024 80.2%	<u>Cohort No: 1</u> <u>Each child = 100%</u> <u>Target where set</u>	Attainment
All	100%	100%
FSM	n/a	n/a
Pupil Premium	n/a	<u>N/a</u>
Mob	n/a	n/a
Stability	100%	100%
SEND	0 children	
MAGT	0 children	
Boys	0 children	
Girls	100%	100%

Year 2 SAT results	NA 68% 2023 Reading Expected level Higher Score NA 18%	NA 60% 2023 Writing Expected level Greater Depth NA 8%	NA 70% 2023 Maths Expected level Higher Score NA 16%	NA % SPAG Expected Level Higher Score	NA 53.4% 2022 RWM Expected level Higher Score NA 5.9%
All Cohort No: 14 Each child = 7.14%	85.7% 21.4%	85.7% 14.3%	85.7% 14.3%	85.7% 14.3%	85.7% 14.3%
FSM Cohort No: 6 Each child = 16.6%	83% 16.6%	83% 0%	83% 0%	83% 0%	83% 0%
Pupil Premium Cohort No: 6 Each child = 16.6%	83% 16.6%	83% 0%	83% 0%	83% 0%	83% 0%
Mobility Cohort No: 1 Each child = 100%	0% 0%	0% 0%	0% 0%	0% 0%	0% 0%

Stability Cohort No: 14 Each child = 7.14%	85.7% 21.4%	85.7% 14.3%	85.7% 14.3%	85.7% 14.3%	85.7% 14.3%
SEND Cohort No: 2 Each child = 50%	0% 0%	0% 0%	0% 0%	0% 0%	0% 0%
MAGT Cohort No: 3 Each child = 33.3%	100% 100%	100% 66.6%	100% 66.6%	100% 66.6%	100% 66.6%

Year 6 SAT results	NA 75% Reading Expected level Higher Score 27% (2022)	NA 72% Writing Expected level Greater Depth 20% (2022)	NA 74% Maths Expected level Higher Score 27% (2022)	NA 73% SPAG Expected Level Higher Score 36% (2022)	62% RWM Expected level Higher Score 11% (2022)
All Cohort No: 10 Each child = 10%	100% 10/10 passed 40%	80% 8/10 passed 20%	100% 10/10 passed 10%	100% 10/10 passed 10%	80% 8/10 passed 10%
FSM Cohort No: 6 Each child = 16.6%	100% 33.2%	66.6% 16.6%	100% 16.6%	100% 16.6%	66.6% 16.6%
Pupil Premium	100%	66.6%	100%	100%	66.6%

Cohort No: 6 Each child = 16.6%	33.2%	16.6%	16.6%	16.6%	16.6%
Mobility Cohort No: 6 Each child =16.6%	100% 33.2%	66.4% 33.2%	100% 16.6%	100% 16.6%	66.4% 16.6%
Stability Cohort No: 4 Each child = 25%	100% 50%	100% 0%	100% 0%	100% 0%	100% 0%
SEND Cohort No: 1 Each child = 100%	100% 0%	0% 0%	100% 0%	100% 0%	0% 0%
MAGT Cohort No: 3 Each child = 33.3%	100% 66.6%	100% 33.3%	100% 33.3%	100% 33.3%	100% 33.3%

Year 4 Multiplication Check

7/16 children achieved 20+/25 -43.8%

Lowest mark was 10/25